do / d m™*"y [pb/GeV]

Ratio to ATLAS

107>

107°

[EEY

0.5

~t
1

13000 GeV pp
e

- I T I T I T I T | T I T I T I I —] 9
— i
— — O
- M(ttbar) (ATLAS semileptonic ttbar) 13
o =
(@)
o
= 3N
— o
[ —
~ i
- o
o \ 42
K " =
:_ ‘/'/";.' ’.\ t\\ _: m
— —F+— Pythia 6.428 350 -
~  ---&-- Pythia 6.428 351 : s
—— --¥-- Pythia 6.428 352 — %
— .- Pythia 6.428 353 Jo
~ -0~ Pythia 6.428 354 18
— --%-- Pythia 6.428 355 — ;
| @ Pythia 6.428 356 %
— Pythia 6.428 357 <
- Pythia 6.428 358 s
| --=-- Pythia 6.428 359 18
[%)]
s
—— - O
= =
— | | | | | | | | | | | | |_ E
: T T | T T T T | T T T T |:
— =2
_—%‘ — ¥ - B 1
| —0.5
1 1 " |
3000

mtbar{t} [G eV]



	Contents
	Page 1


